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i nstitutions. We also have the problem of helping those
institutions in Nebraska who are in the business hel ping us cope
with those problems as well. |t seened to ne to nmke sense that

we have in place in Nebraska a policy that would permt, in this
case, probably our | argest holding conmpany the opportunity to
participate in the takeover of those obligations. Also in the
process of that, the more we discuss this we understand the
problens with a cap that taking over those institutions could

create. Soright now, rather than going into ny support for the
first section of she amendment, | would simply ri se to say that
the bill inits present fvrmas | took as g priority, Senator
Schrmit's bill, should be approved, and | will discuss in my

opi ni on Justlflcatlon for the first section as well when we
di scuss the divided question.

PRESIDENT: Thank you. Senator Wesely, please, followed by
Senator Schmt.

SENATOR WESELY: Yes, Nr. Pr esi dent and members | guess |
would like to ask Senator Schnit to yield to a question but
don't see himon the floor. wel|, | will frame the questlon

and when he gets to follow, then maybe he can address that. The
uestion Senator Landi shas asked is why do we need the increase
rom 12 to 15 percent when we can al ready providefor the RTC
failing S Ec Ls to be purchased by the gection of the amendment
that we now are |ooking at. The question | have got is, if the

bank holding company that is at over || percent, close to
12 percent, purchases a RTC failing S & L, thus going above
12 percent, let's say goes to 13 percen maybe something |ike

that, then does that get exenpted out forevernmore fromthat
12 percent lid so that they can go out and buy 4 healthy

institution, and the answer is, probably not, that it would be
too difficult to provide an ongoing eval uation of the exemnption

so that you would be able to allow that institution to purchase
heal thy institutions up to the immt that we had gpyisioned on
previous legislation. So here is the problem if you have a
situation where you have got a hol ding company that wants to
look at purchasing a RTC failing S EL versus a healthy

institution, a bank or whatever, that they are now able to
purchase, which way are they going to go? Well, most li kely
they wil 1 go with the hea_lthK institution. They wi || st
likely buy the bank that is healthy and not be as i'ntereste

the failing S6 L. And so one of the things | think tp
be some virtue in doing both is the question of bei n‘ér%m??%
buy both a healthy and a weak institution, thus making mor e
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